Manuals+ — User Manuals Simplified.

nnnnnnnnnn

Triple M 9PEWP (
Window N
Protector

Triple M 9PEWP Window Protector Installation Guide

Home » Triple M » Triple M 9PEWP Window Protector Installation Guide ™

Contents
1 Triple M 9PEWP Window
Protector
2 Product Usage Instructions
3 Installation Steps
4 INSTALLATION INSTRUCTIONS
5 Kit Contents
6 SECTION 1—Installation
7 Documents / Resources
7.1 References
8 Related Posts

TRIPLEM)

TRAY BODIES

Triple M 9PEWP Window Protector


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/triple-m
https://manuals.plus/triple-m/9pewp-window-protector-manual.pdf
https://manuals.plus/#triple_m_9pewp_window_protector
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#installation_steps
https://manuals.plus/#installation_instructions
https://manuals.plus/#kit_contents
https://manuals.plus/#section_1-installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Specifications

o Product Name: 9PEWP Window Protector

« Material: Steel Wire Mesh or Aluminium Mesh
« Installation Time: 0 Hours 15 Minutes

« Document Issue: 1, Date: 25/06/2024

Product Usage Instructions

Kit Contents
Before starting the installation, ensure that you have all the necessary components:

« 1 Window Protector — Welded Steel or Alloy Mesh
¢ 4 M6x40 Counter-sunk Philips Head Screws
« 4 M6 Nyloc Nuts

Tools Required
Make sure you have the following tools ready:

« Cordless Drill
6.5mm Drill Bit

« 10mm Socket

« 10mm Spanner
« Ratchet

« Philips Head Screw Driver

Installation Steps

1. Step 1: Positioning
Position the window protector to ensure at least 25mm clearance from the headboard while covering as much
of the rear window as possible.

If your vehicle has a Third Brake Light, ensure the top of the protector sits 25mm below the bottom of the lamp



to avoid blocking it.
2. Step 2: Fastening
Mark hole locations on the headboard uprights and drill 6.5mm holes. Use M6x40 counter-sunk screws and M6

nyloc nuts for steel wire mesh protectors, and M6x40 bolts for aluminum mesh protectors.

FAQ

Q: Do | need to use power tools for installation?
A: Yes, the installation requires the use of power tools for drilling and fastening.

INSTALLATION INSTRUCTIONS

Fitting Time: 0 Hours 15 Minutes

Steel Wire Mesh Window Protector

Aluminium Mesh Window Protector

Installation of this accessory requires the use of power tools. Check that all work practices com-ply with safety
standards, wear appropriate clothing and use personal protection equipment.

Please read these instructions carefully before installation, paying special attention to all Notice, Caution &
Warning notes. Failure to do so may result in damaged parts or injury to the installer or customer.

Kit Contents

NOTE: CHECK KIT CONTENTS BEFORE COMMENCING FITMENT AND REPORT ANY DISCREPANCIES



Item Description

Qty

Steel Wire Mesh Window Protector

1 Window Protector — Welded Steel 1

2 M6x40 Counter-sunk Philips Head Screw 4
3 M6 Nyloc Nut 4
ltem Description Qty
Aluminum Mesh Window Protector

1 Window Protector — Alloy Mesh 1

2 M6x40 Hex Bolt 4

3 M6 Nyloc Nut 4

Tools Required




TOOLS REQUIRED

Cordless Dirill

6.5mm Drill Bit

10mm Socket

10mm Spanner

Ratchet

Philips Head Screw Driver

Fastener Torque Table

Fastener size

Class Torque

M6

8.8 9 Nm

SECTION 1—Installation

1. STEP 1

Position window protector to allow minimum 25mm clearance from the headboard whilst still covering as much

of the rear window as possible.
NOTE: If Vehicle has Third Brake Light

Welded Steel Window
Protector shown

=

If the vehicle is fitted with a CHMSL (Center High Mounted Stop Lamp) ensure the top of the window protector
sits 25mm below the bottom of the lamp. The brake light must not be blocked by the window protector.
Mark the hole locations on the headboard uprights and drill 6.5mm holes.

Min 25mm

CHMSL Welded Steel Window
Protector shown

.

]
=1

-_E_J = ¥

NSER TN

2. STEP2




Fasten the window protector to the head-board uprights upright using M6x40 counter sunk screws and M6 nyloc
nuts.

For alloy mesh window protectors use M6x40 bolts and M6 nyloc nuts.

- M6 Nyloc Nut
MEx40 C/sunk screw - -

Window Protector

Protector shown

Documents / Resources

Triple M 9PEWP Window Protector [pdf] Installation Guide
9PEWP Window Protector, 9PEWP, Window Protector, Protector

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/a73e8d68c6049051388bc440f06afed4374280a31bfd8c9b647f3b0a31e748bc
https://manuals.plus/m/a73e8d68c6049051388bc440f06afed4374280a31bfd8c9b647f3b0a31e748bc_optim.pdf
https://manual.tools/?p=15460736#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Triple M 9PEWP Window Protector Installation Guide
	Triple M 9PEWP Window Protector
	Product Usage Instructions
	Installation Steps
	INSTALLATION INSTRUCTIONS
	Kit Contents
	SECTION 1—Installation
	Documents / Resources
	References



